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if the stopping case is reachec
Return a value for the stopping case
else
Return a value computed by calling

the function again with different
arguments.
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int fac (int n)
{
int sum, i;
sum = 1;
for(i=n;i>1; i--)
sum = sum * i;
return sum;
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output = fac (5);

int fac (int n)

{
if(n==1|| n==0)
return 1;
else
return n * fac (n -1);
by
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int fac (int n)

{
if (n ==
0)

L]l n==

return 1;
else

return n * fac (n -
1);
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double power (double X, int y)

{
if (y ==0)
return 1;
else if (y > 0)
return x * power (x, y - 1);
else
return 1/x * power (x, y + 1);
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dreehafanduma Fibonacci
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dreehafanduma Fibonacci
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int fibo (int n)

{
if(n==1||n == 2)
return 1;
else
return fibo(n - 2) + fibo(n - 1);
by
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//Searches for target in elements first through last of array
//Precondition : The elements of table are sorted & first and last are defined.
//Postcondition: IF target is in the array, return its position; otherwise, returns -1.

int binSearch (int table[], int target, int first, int last)
{
int mid;
mid = (first + last)/2;
if (first > last) / /v liin
return -1;
else if (target = = table[mid]) //duwuludumisnars
return mid;
else if (target < table[mid])
return binSearch (table, target, first, mid - 1);
else
return binSearch (table, target, mid + 1, last);
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void tower (char from, char too, char temp, int n)

{
if(n==1)
cout << "Move Object 1 from tower" << from
<< "to tower" << too << endl;
else
{
tower (from, temp, too, n - 1);
cout <<"Move Object" <<n <<"from tower" <<from
<<"to tower" <<too <<endl;
tower (temp, too, from, n - 1);
b
b
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tower (A "B, T 2]
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1. tower (from, temp, too, n - 13; @
tower (4, 'C', "B, 1),
HE Move Object 1 from tower A to tower C

2. (2
tower (4", '8, 'C', 2)
HE Move Object £ from tower A to tower B

4. tower ('C', B, AT 3
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tower (4, 'B', 'C, 3)
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WMave disk 2 from tower B to tower C
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meaalisunsu reverse

#include<iostream>
using namespace std;
// Function prototype
void reverse( );

int main ()

{
reverse( );
cout << endl;
return O;

}

void reverse( )
char next;
cout << “Next character
or * to stop: ”;
cin >> next;
if (next = “*")
reverse ( );
cout << next;
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#include<iostream>
using namespace std;
int gcd(int, int);

int main( )
{
intm, n;
cout << “Enter two positive

integer: % ;
cin >>m >> n;
cout << endl << "Their
greatest common
divisor is "
<< gcd(m, n) << endl;
return O;

¥

int gcd(int m, int n)
{
if (m < n)
return gcd(n, m);
else if(m % n == 0)
return n;
else
return gcd(n, m % n);
b
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Enter two positive integer: 24 84

Theliggreatest common divisor is
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// Finds the sum of integers in an n-element array
int findSum(int x[ ], int n)

{
if (n ==1)
return x[0]; // stopping case
else
return x[n-1] + findSum(x, n-1); // recursive step
b

~ 9 < ] dy
Nam@Qﬂqilﬁﬂﬂi%%glﬂUQqu

Recursive sum is 55
Calculated sum is 55
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double test5(inta, int b)
{

double sum = 1.0 ;
for(inti=3;i< b;i++)

{

=~ Jo Y 9 da) 1 = (%
dgulansuasduil IndunuiFena e
Hilmsizenldmde cout< <test5(2,6)<<endl;
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sum = sum / (a*a) ;
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weutnTuGenduesyes SUM meliamnsaau laasmsiause i
1 +2/3 +3/5 + 4/7 + .. n/(n+2)

o ldEenld
SUM(1) wavesmsvhaude 1
SUM(2) wavesmsviamde 1 +(2/3)
SUM(3) wavesmsviwwde 1 +(2/3) + (3/5)

SUM(N) wmavesmsvinwael + (2/3) + ... + n/(n+2)
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